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9. 4447 T 41 python F2FF B, HtH4i A
data=1[1,2,3,1,2,3]
que =[0] * 10
head =tail =0
for i in range(len(data)) :
if data[i] %2 =0 :
queftail] = data[i]
tail +=1
elif tail - head > 1 :
que[tail - 1] += que[head]
head +=1
print(que[head : tail])
A.[3,2,1] B.[1, 2, 3]
10. $447 F %1 Python fX65, it 4s KA
def f(s) :

m = len(s)

C.[1,3,1] D.[3,2, 3]

ifm==
return int(s)
else :
return f(s[ : m-1]) + f(s[m-1])
print(f('101"))
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11T F 41 Python B2 RED, 2445 SR Ay“ABCDE”, JU#frth 145 S ] 0 2 s

£ O *
. . = source.txt # =
from random import randint S
st=["] *10; top=-1; out=" X wmE EF &3
s = input('s="'
. P ( ) The Gingerbread Man
while s : Once there lived an old man, an old woman, and a little boy. One
flag = randint(0,1) day, the old woman was baking bread. With the dough that was left
if flag =1 : epr she mad- a " ~ger wer  "ap wi'h™ ¥ 13 tle bo 's b-1lp Tb
+=1; =
top ; ,] st[top] = s[0] 13 B a
s=s[l:
i ton 1o -1 (D FAURRACTD I, HEA A (GBI AR 5 B A elif "a” <= ch<="z" .
elif top !=-1: \ IS o et A
P (2) NEIMAFLATIRE, 9 RIS AE R,
out += st[top]; top -=1 al 4 ®
— " txt"."r" ine="utf]"
while top 1= -1: ile = open("source.txt","r" ,encoding="utf8")
context=""
out += st[top]; top =1
) line = file.readline()
print(out)
while line :
A. CEDAB B. BDECA C. ABCED D. DCBEA

1251F afin (n>=2) NIEREHL, MBI EEN 1, 0 B-1. SRARLIECE A F Z 48 1S
TRHIH, TRATERMPERE. KBZIIRERRE R B R, IHEAL RIS (1 IR A A2

state = a[1] - a[0]

maxv = t1 = {2 = a[1] + a[0]

for 1 in range(2,n):
f=a[i] - a[i-1]

print(maxv)

A.if state == :
tl +=a[i]
t2=t1

else :

state = f
t2=t1
tl = a[i-1] + a[i]
t2 = max(t1,t2)
if t2>maxv :

maxv = t2

B.if state == f:
tl +=afi]
t2 =11
elif state !=f:
state = f
t2 =11
tl = afi-1] + a[i]
t2 = max(t1,t2)
elif t2>maxv :

maxv = t2

C.if state == :
tl += af[i]
t2 =11

if state 1= f':
state = f
t2 =11

tl = a[i-1] + a[i]
t2 = max(t1,t2)
elif t2>maxv :

maxv = t2

D.if state ==f:
tl += a[i]
t2 =11
else :
state = f
t2 =tl
tl = a[i-1] + a[i]
t2 = max(t1,t2)
if 2>maxv :

maxv = t2
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context += line.strip() +" "
line = file.readline()
@®

words = {}

—m

word
for i in range(num) :
ch = context[i]
if"A" <=ch<="Z":
ch = chr(ord(ch)+32)
| if "a" <=ch <="z" |:
word +=ch
elif len(word) > 0 :

if word in words :

@

else :

words[word] = 1
word =""
maxcount = 0
maxword = []
for key in words :

if ©)

maxcount = words[key]

maxword=[key]

elif words[key] == maxcount:

BA 2 (k470




maxword.append(key)
print(maxword,maxcount)
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#iIR 55 i #0 23 FE AR -
from flask import Flask,render template,request
app = Flask(__name )

@app.route('/")
def query():
#EHRIT AR 50 AR EIESK, HAPEIE —4E53K sdata

return render template('index.html', ddata=sdata)

@app.route('/input’)

def upload():

hm = float(request.args.get('hum'))  #3REUEEE R

Rl A G e R A E T A A 1

if hm > 70 :
return 'l

else :
return '0'

if name ==' main
app.run(host ='0.0.0.0", port = 8080, debug = True)
T [R5 41 i -
(1) ALK B8 % upload FYIR [BIE F__ $3edle (i, JH 7 BE: A.Web fld5as /BT AS /C. B BEL ) .

(2) 8 g um EARVE EEUER, KR HTTP iR 70y (%, 357 FF: A.GET/B.POST).
(3) B0 28 A BT S0 S50 sk, IR E o

(4) IR EAE BIME 70 R PREBahi, WX B 2 PO R 3. ikl X E N AR T A,
T IAE AR A SR (& BECGIE 430, AT R S i Bt T ik

(5) /NI TR T A AR SRR AN P P90 R ARG DL, IS e b 5t Bl I PR A7 i EXCEL

BA  H3m (gt

A, %NS 14 8 b Fros, B EE AT SR, Lxfl s 14 B ¢ s R . T v RIZat

HEAEA,
r 5 = 2023/7/8 ERE/NEEHEEHNE

1 BEA ipy ] BE 7

2 | 2023/7/1 | 00:00:00 67 -

3 | 2023/7/1 | 00:00:10 67

4 | 2023/7/1 | 00:00:20 67 %

5 | 2023/7/1 | 00:00:30 68 66

6 | 2023/7/1 | 00:00:40 67 o

7 | 2023/7/1 | 00:00:50 68 @

g | 2023/7/1 | 00:01:00 68

all e | e | 000102030405 0607080910 11 1213 14151617 18192021 22 23

314 B b %14 8K ¢

import pandas as pd
import matplotlib.pyplot as plt
df = pd.read_excel('data.xlsx")
date = input("VE A H #,7561:  2023/7/8")
df = @
df.insert(0, /N
for i in df.index :

time = df.at[i,"H [A]"]

df.at[i,"/ NI '] = time[3:5]
df = df.groupby('/Mi", as_index = False).mean()
plt.plot( @ , AEIR )
plt.show()

15 BT X o = 78 STEAT i, A A R AR R AT S ST 4 T 8
JRE o 157 IR G IRAT A “kscj. csv”iﬁ:ﬂlj WA EE 15 B a fos, FATAAIH , 735257,
“PEALTL SRR, H R SRR R IR M S, SR I RN %A YE NG S, PR

YT I N0 1B R T o
W0~ Python F2/F7, AT Ja ki L/ £ g br, s 15 @K b fis. ERIE T 50 E,
o616, SHIE, B3, 117 HE BX HE¥E XiE YE 4F £9 B BE HE BA 24
0610, BEIE, #3109 01 1153 1295 133.2 942 947 97.3 664.2
e610, B&E, 5535, 115 02 1147 1145 1307 - - 740 945 937 945 - 6421
ecle, HHlE, EUG,94 03 102.1 1091 121.6 79.8 - - - - 877 90.3 5905
ee10, 5HE, O%8, 97
22;3‘22{%‘&%;}? 13 1085 117.1 126.0 88.8 89.3 93.0 z = - 931 6228
1592’1ﬁﬁ'§;",&’n3 14 1078 1181 1226 87.9 899 916 925 80.0 937 - 6181
______ g 15 1052 112.8 121.7 834 - 899 - 8380 924 - 605.3
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def dataToClassQue(data) : HERET:

num = len(data) course={"TH3L"0," =" 1, 'JEIE" 2, "WIBL"3, M4, HEWS, A e, T T, HE P8, EOR 9}
for i in range(num): data =[] #IEMETENINEDE
classld = data[i][0] classNumber = readFile(data)
if queInfo[classld-1][0] == -1 : quelnfo = [[-1,-1] for i in range(classNumber)] #WIIEAEAT, H Tt & RS B
quelnfo[classld-1][0] = i averageScore = [[0 for k in range(11)] for i in range(classNumber) #1454t 25 BE 5B DA K 24335 47
else : dataToClassQue(data)
dataProcessing(data)
quelnfo[classld-1][1] =1 fmtPrint()
return

(3) B 4] dataProcessing e : Sith &L & B350 FIBEE 53V 35 53 o BRI Z AN G AR AG
def dataProcessing(data) :

for classld in range(1,classNumber+1) :

@
score = [[0,0] for i in range(10)]  #PEZL S FFF34 43 FIAH R N Ew) a6 1k
p = quelnfo[classId-1][0]
while p 1=-1:
subjectld = data[p][3]
total += data[p][4]
@
score[subjectld][1] +=1
p = data[p][-1]
for subjectld in range(10) :
if score[subjectld][1] =0 :
t= 3
#PR 2L round(t,x) FH T340 & ¢ DU FLANPREE x AL/
averageScore[classld-1][subjectld] = round(t,1)
averageScore[classld-1][10] = round(total/score[0][1],1)

return

def readFile(data) :
#IENRIA AR, TR S, A7 3 data H, ACADEE
#data B R:  [[6, 10, 'EPLE, 0, 117, -1], [6, 10, 'FPLE, 1,109, -1], ...... ]
#EERICSR G B MRS, BN S, 4, RS, B0 MTEE-1
return maxCassld  #iR [Fl 5z K g5

def fmtPrint() :
#ig s, s 15 B b s, ARIDES
return
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